Signal/Transitional Words

The word but signals the reader that

A an example-is-abautia-ba (les ad

B >-contrasting statement is dbaut i
‘QD

C = g of elents is being

D nd eifect isbeing described

Class

Date

The word because signals the reader
that

A anr-example is about to be described

B a contrasiing statementis about to
> stated

C 2 sequer T events i3 beir
described

M & Ccause and affechis being doscribad
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Which of the following words signals
similarity?

Which of the following words signals
sequence?
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A hence

B therefore
C yet

D 2'so

Whieh words, of word phrases;
do not shqw seqlencing?

A after that
B first

C during
D however

Lt 4 i~ ’

A finally
B.because
C then

D inllikednansd

Which of\ha words, Jor word phiases;
do not show cause and effect?

A therefore 71?—
B as aresult
C but

D since
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